High Court of Gujarat,
Sola, Ahmedabad

No. RC/B/1304/2022 (P.S.)

Provisional Answer Key for Preliminary Test (Objective Type - MCQs) conducted on
24-09-2023 for Direct Recruitment to the Post of Private Secretary on the establishment

of the High Court of Gujarat.
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High Court of Gujarat,

Sola, Ahmedabad No. RC/B/1304/2022 (P.S.)

Provisional Answer Key for Preliminary Test (Objective Type - MCQs) conducted on
24-09-2023 for Direct Recruitment to the Post of Private Secretary on the establishment
of the High Court of Gujarat.

Q. No. Set 1 Set 2 Set 3 Set 4 Set 5
91 B C B D D
92 D B A B A
93 C D D B D
94 B A C A D
95 B A B D B
96 A C C B A
97 D A A A B
98 A B D A C
99 A B A A C
100 B C D C C
Note:
1 Candidate may raise Objection(s) Online w.e.f. 25/09/2023 12:00 noon onwards by
visiting the “Answer Key” option under “Downloads” menu on HC-OJAS website only.
2 Last date for submitting Online Objection(s) is 26/09/2023 upto 05:00 p.m..
3 If the High Court does not receive any Online Objections(s), it would be open for the
High Court to treat the Provisional Answer Key as the Final Answer Key.
High Court of Gujarat,
Sola, Ahmedabad. Sd/-
Date:24/09/2023 Registrar (Recruitment)
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Preliminary Test

Pri.Sec.-2023 TOTAL MARKS: 100 DATE: 24-09-2023 TIME: 11.00 am - 01.00 pm

0 1.

Q2.

Q 3.

Q 4.

Q5.

Q6.

What was the day of the week on 15th August, 19477
(A) Friday

(B) Thursday

(C) Monday

(D) Saturday

Which out of the following is the most opposite in meaning to the
word - 'Omniscient'?

(A) Almighty

(B) Infallible

(C) Ignorant

(D) Obedient

A AWM ([dseul Hiell 'AHaSaAl Aot Al AHER] Aot UL B
(A) AA-1ER

(B) Hievdl

(C) dsERL

(D) U=l

The mule was partially relieved ___ the load.
(A) of
(B) off

)
(C) to
(D) by

Which out of the following is the most opposite in meaning to the
word - 'Luminary'?

(A) Genius

(B) Dunce
(C) Clear
(D) Sage

'sie gl 3[@uAlaL AL AR 24 AR Hiell sl [dsey gauld 8.
(A) Yot s:dl

(B) GeUR g

(C) gout sl

(D) di-t2l Aiciang
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Q7.

Q 8.

Qo.

Q 10.

Q 11.

Q 12.

Q 13.

He went where he __ find work.
(A) goes to

(B) could

(C) can

(D) is

Al et ([dseul Hiall 'a2H] ot Al AnR] Aoe Ul 9?
(A) AR

B) C{@-l
(C) 4

(D) H@{S

—

Al et ([dseul Hiall 'og A dqg uldat & d' eeAHs HI2 Al AS Ace KU B?
(A) YyQusels

(B) @SRl
(C) 2ieiyd
(D) €lls~t

Which of the following is a permanent memory in the computer?
(A) ROM

(B) RA

(@) CPU

(D) None of the above

Which out of the following is the most similar in meaning to the word
- 'Menace'?

(A) Blessing

(B) Good - will

(C) Threat
(D) Remembrance

Which out of the following is the most opposite in meaning to the
word - 'Lame'?

(A) Weak

(B) Ineffective

(C) Defective

(D) Robust

Pl Hog!' 3@ulat AL AL 242 12 Hiell sl (Aseu eauld 8.
) ARAUBLA HAOG

B) 2ueRL oi4q

C) edl @] usdl

D) §Rdl %9

(A
(
(
(
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Q 14.

Q 15.

Q 16.

Q 17.

Q 18.

Q 19.

Q 20.

India recently won the Asia Cup men's cricket trophy by beating

in the final.
(A) Sri Lanka
(B) Pakistan
(C) Bangladesh
(D) Afghanistan

Which out of the following is the most similar in meaning to the word

- 'Onerous'?

(A) Burdensome
(B) Light
(C) Easy
(D) Solely
What is the full form of PDA?
(A) Personal data assistant
(B) Personal digital assistant

(C) Personal detail assistant

(D) Personal database assistant
Headquarters of UNESCO are located in _____
(A) New York

(B) San Fransisco
(C) Paris

(D) London

He went to Kolkata so that he __ find work.
(A) might

(B) may

(C) Both (A) and (B)

(D) none of the above

A 2 [Aseul Hizl 'GuH' 2ot -l [Aaell 2lee sul 897
(A) 5
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Q 21.

Q 22.

Q 23.

Q 24.

Q 25.

Q 26.

Q 27.

AL [dseul Hiell Ul 2Ace dauel Aot 'sAdl’ | [Re 3u &?
A) gbidl
(et

Long indulgence ___ vice impaired his once robust constitution.
(A) to

(B) into

(C) in

(D)

for

'Smart Vault' an automated digital locker facility is launched by _____
(A) HDFC Bank

(B) ICICI Bank

(C) YES Bank

(D) SBI

Answer the first question before You __ further.
(A) proceed

(B) proceeded

(C) will proceed

(D) are proceed

Which out of the following is the most similar in meaning to the word
- 'Forbear'?

(A) Abstain

(B) Indulge

(C) Seek

(D) Power

Which out of the following is the most opposite in meaning to the
word - 'Chide'?

(A) Rate

(B) Scold

(C) Reprimand

(D) Applaud

International boundary line between India and Pakistan is known as

A) Radchffe Line
B) Durand Line
C) 38th Parallel
D)

(
(
(
(D) McMohan Line
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Q 28.

Q 29.

Q 30.

Q 31.

Q 32.

Q 33.

Q 34.

Which out of the following is the most similar in meaning to the word
- 'Fragile'?

(A) Hardy

(B) Exile

(C) Delicate

(D) Tough

What fraction of an hour is a second?
(A) 1/24
(B) 1/60

(C) 1/120

(D) 1/3600

Which out of the following is the most similar in meaning to the word
- 'Synopsis'?

(A) Diagnosis

(B) Surgery
(C) Crisis
(D) Epitome

If You subtract (-1) from (+1), what will be the result?
(A) -2
(B) O
(C) 1
(D) 2

The public are cautioned _____ pickpockets.
(A )for

(B) o
(C) agamst
(D) too

A 2 [Aseul Hiell 'aHaH’ Aot -l (el 2Aoe sl 97
(A) Getdlxiu

(B) ulRsM
(C) 2™
(D) G4dll

I have not been well __ I returned from Delhi.
(A) for

(B) when
(C) and
(D) since
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Q 35.

Q 36.

Q 37.

Q 38.

Q 39.

Q 40.

Q 41.

He gazed so long _____ both his eyes were dazzled.
(A) that

(B) and
(C) for
(D) when

Christ ____ his crucifiers.
(A) forgive

(B) forgave

(C) forgiven

(D) none of the above

The study of the history of life on earth as based on fossils is called

(A) Paleontology
(B) Taxonomy
(C) Pedology

(D) Oology

Many aspire ___ greatness, but few attained.
A) with

against

If REQUEST is written as S2R52TU, then how will ACID be written?
(A) 1394

(B) IC94

(C) BDJE

(D) 1D3E

Bitmap file has ____ extension.
(A) .bit

(B) .bmp

(C) .btm

(D) .bmt

'89S dlis aladl' 3luloL Al ALAL 42l A1 Hizll sl [Asey e2uld .
A) udlu- g

B) HR\ luig

C) DD scl

D) MWL Hi _Ag

(
(
(
(
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Q 42.

Q 43.

Q 44.

Q 45.

Q 46.

Q 47.

Q 48.

Which out of the following is the most similar in meaning to the word
- 'Filthy'?
(A) Purity
(B) Dirty
(C) Sweet
(D) Ambiguity

_____is not an output device.
(A) Monitor
(B) Printer
(C) Projector
(D) Keyboard

A 21 ([Aseul Hizdl '[AHa 2o Al [GaEl 0t sl 97
(A) (@t

(B) 4

C) R

(D) UG

They have ___ their tongue to speak lies.
(A) teach

(B) taught

(C) teaching

(D) are teaching

A A ([dseul Hiall uARUL Ao Al AHILE] Aot AL P
(A) USER

(B) usel

(C) ey

(D) 2uH§

Which out of the following is the greatest number of five digits exactly
divisible by 47.

(A) 99999

(B) 99947
(C) 99969
(D) 99994

Choose from the options, the correct version of the passive voice of
the below sentence.

My cousin has drawn this picture.

(A) This picture has been drawn by my cousin.

(B) This picture was being drawn by my cousin.

(C) This picture is drawn by my cousin.

(D) This picture having been drawn by my cousin.

SET1 Page 7
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Q 49.

Q 50.

Q 51.

Q 52.

Q 53.

Q 54.

Q 55.

Which male player won the 'Purple Cap' Award in the IPL - 2023
season?

(A) Hardik Pandya

(B) Kagiso Rabada

(C) Mohammed Shami

(D) Rashid Khan

He was punished, __ he was guilty.
(A) for

(B) but

(C) yet

(D) s

How many times are the hands of a clock at right angle in a day?
(A) 22

(B) 2
(C) 4
(D) 4
Who currently holds the post of Prime Minister of Japan?
(A) Shinzo Abe

(B) Yoshihiko Noda

(C) Yoshihide Suga

(D) Fumio Kishida

Who is the current cabinet rank minister of health and family welfare
in the State of Gujarat?

(A) Shri Kanubhai Desai

(B) Shri Rushikeshbhai Patel

(C) Shri Raghavjibhai Patel

(D) Shri Balvantsinhji Rajput

She has gone to Chennai, is her birthplace.
(A) which

(B) that

(C) and

(D) none of the above

SET1 Page 8
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Q 56.

Q 57.

Q 58.

Q 59.

Q 60.

Q61.

Q 62.

He locked the papers up so that they ____ be safe.
(A) are

(B) may
(C) might
(D) were

Pixel stands for ____ in computer.
(A) Picture Electron

(B) Picture Element

(C) Picture Electric

(D) Picture Election

A ___ is approximately one billion bytes.
A) Kilobyte

Bit

Gigabyte

Megabyte

~

(
(B
(C
(D

~— ~— ~—

Which out of the following is the most opposite in meaning to the
word 'Mediocrity'?

(A) Brilliance

(B) Medium

(C) Mean

(D) Average

AL [Aseul Hiell sUl Ace dauel Aot 'BIAREL o [RIve 3uU &?
(A) 3y

(B) AL

(C) A-HIA

(D) Al

Which among the following planets does not have any satellite?
(A) Jupiter

(B) Venus

(C) Saturn

(D) Uranus

Choose from the options, the correct version of the passive voice of
the below sentence.

We expect good news.

(A) Good news shall be expected.

(B) Good news will expect by me.

(C) Good news will be expected.

(D) Good news is expected.

SET1 Page 9
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Q 63.

Q 64.

Q 65.

Q 66.

Q 67.

Q 68.

Q 69.

The accident resulted ___ the death of five people.
(A) to

(B) for
(C) with
(D) none of the above

MPEG stands for

(A) Moving Pictures Export Group

(B) Moving Pictures Expert Group

(C) Moving Pictures Extra Group

(D) Moving Pictures Extension Group

'Sl wiRdl' 3[@ulol Al AR 242 Al Hiell sul [dsey gauld 9.
(A) -y ue Hidlg

(B) dlsq

(C) A=Al 82l

(D) el usq

AL (Aseul Hiell sl AoE daUEl Aot '$5366' o R 3u O?
(A) HRHRL

(B) uldstt

(C) vl

(D) H4L

Storage that retains it's data after the power is turned off is referred
toas

(A) volatile storage

(B) non volatile storage

(C) sequential storage

(D) direct storage

So long as the rain ____, I stayed at home.
(A) continue

(B) was continuing

(C) continued

(D) is continuing

Al et ([dseul Higll 'aeR] A did sl d' AceAYs HI2 -l s Aot sUL O?
(A) AUy

(B) dlegl

(C) use

(D) il

SET1
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Q 70.

Q71.

Q 72.

Q 73.

Q 74.

Q75.

Q 76.

Which male tennis player has won the most Grand Slam Singles
Titles in the open era?

(A) Novak Djokovic

(B) Rafael Nadal

(C) Roger Federer

(D) Pete Samprass

Early rising is beneficial ____ health.

(A) to

(B) with

(C) too
)

(D) four

The wrong number in the sequence 22, 33, 66, 99, 121, 279, 594 is

79
21

u = N

Union Cabinet has declared which day as 'National Space Day' in
India?

(A) 23rd August

(B) 22nd August

(C) 17th September

(D) 21st January

USS UG g leuAdL Al AL 442 A2 Hizll sl [Aseu eauld 8.
(A) v Brel sldl

(B) ot U g

(C) MR HIRdl

(D) 1§ @ldlg

Government imposed a complete ban on all kinds of crackers
in September 2023.
(A) Maharashtra
(B) Rajasthan
(C) New Delhi
(D) Haryana

ML BRg' 3(eulal Al AL w42l A Hiell sl ([dseu exld &,
(A) AWML U]

(B) Hl2l S om1eR g

(C) B slogHi dq - a”l 59

(D) 4~ g
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Q 77. Which out of the following is the most opposite in meaning to the
word - 'Fragment'?
(A) Frame
(B) Odorous
(C) Scented
(D) Bulk

Q 78. Which out of the following numbers is divisible by 3, 7, 9 and 11?
)

(

(B) 2079
(C) 3791
(D)

Q79. 9,12,11, 14, 13, , 15
(A) 12

B)
(C) 10
D)

Q 80. Which out of the following is the most opposite in meaning to the
word - 'Manifold'?
(A) Numerous
(B) Various
(C) Scant
(D) Multifold

Q 81. The murderer has to Australia.
(A) flee
(B) fled
(C) flown
(D) none of the above

Q 82. There are certain number of benches in a classroom. If four students
sit on each bench then three benches remain unoccupied. If,
however, three students sit on each bench then three students
remain standing in the class. There are ____ number of students in
the class.

(A) 45

(B) 5
(C) 4
(D) 4

97PS SET1 Page 12



Q 83.

Q 84.

Q 85.

Q 86.

Q 87.

Q 88.

97PS

Al 2t ([dseul Hiall '2isoy AHU Hi UL AUG' AcEAYS HI2 -l Vis Aot sUl O
(A) uusIdlA

(B) 2sid

(C) sleldld

(D) 2R

Choose from the options, the correct version of the passive voice of
the below sentence.

Columbus discovered America,

(A) America was discovered by Columbus.

(B) America got discovered through Columbus.

(C) America is discovered by Columbus.

(D) America was been discovered by Columbus.

Which out of the following is the most similar in meaning to the word
'Fidelity'?

(A) Allegiance

(B) Treachery

(C) Disloyalty

(D) Unreal

As he ___ not there, I spoke to his brother.
(A) was

(B) is

(C) went
(D) none of the above

Which out of the following is the most opposite in meaning to the
word - 'Cherish'?

(A) Nurture

(B) Entertain

(C) Discard

(D) Foster

The smallest number of five digits beginning with 3 and ending with
S will be

(A) 30005

(B) 31005
(C) 30015
(D) 30025

SET1 Page 13



Q 89. What does the abbreviation 'NeVA' stand for in the context of the
inauguration by the President of India?
(A) National Energy Visionary Application

(B) National Environmental Virtual Assembly

(C) National e-Vidhan Application

(D) National Education Virtual Alliance

Q 90. Which out of the following is the most similar in meaning to the word
- 'Meteoric'?
(A) Permanent
(B) Order
(C) Momentary
(D) Misdeal

Q 91. Choose from the options, the correct version of the passive voice of
the below sentence.
Sohrab threw the ball.
(A) The ball is thrown by Sohrab

(B) The ball was thrown by Sohrab

(C) The ball was threw by Sohrab

(D) The ball is being thrown by Sohrab

Q 92. She___ her hands in agony.
(A) is wring

(B) was wring

(C) wring

(D) wrung

Q93. Al 2udd [Aseul izl 'dd1eaL HRL ARG AceAYs HI2 -l xS Aot sUL B?
(A) AHAURL

(B) 2la-tell

(C) Hel:ut

(D) 2R3

Q 94. The burglar jumped ___ the compound wall.
(A) on
(B) over
(C) through
(D) in

Q 95. Which out of the following is the most similar in meaning to the word
- 'Obscure'?

(A) Reveal

(B) Conceal

(C) Discover

(D) Submissive

97PS SET1 Page 14
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Q 96.

Q 97.

Q 98.

Q 99.

Q 100.

He was so tired that he ___ scarcely stand.
(A) could

(B) may
(C) can
(D) might

Who currently holds the post of cabinet rank Minister of Commerce
and Industry, Government of India?

(A) Smt. Smriti Irani

(B) Smt. Nirmala Sitaraman

(C) Shri Arjun Munda

(D) Shri Piyush Goyal

Choose from the options, the correct version of the passive voice of
the below sentence.

Somebody has put out the light.

(A) The light has been put out.

(B) The light is turned out.

(C) The light will be put out.

(D) The light is being put out.

Not a drum was ____, not a funeral note.
(A) heard

(B) to be heard

(C) hear

(D) hearing

is the ex-officio Chairman of Rajya Sabha.
A) President
B) Vice President
C) Deputy Speaker
D) Prime Minister

(
(
(
(
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Pri.Sec.-2023 TOTAL MARKS: 100 DATE: 24-09-2023 TIME: 11.00 am - 01.00 pm

0 1.

Q2.

0 3.

Q 4.

Q S.

Q6.

What was the day of the week on 15th August, 19477
(A) Friday

(B) Thursday

(C) Monday

(D) Saturday

They have ___ their tongue to speak lies.
(A) teach

(B) taught

(C) teaching

(D) are teaching

Which among the following planets does not have any satellite?
(A) Jupiter

(B) Venus

(C) Saturn

(D) Uranus

Long indulgence _____ vice impaired his once robust constitution.
(A) to

(B) into

(C) in

(D)

D) for

A A ([dseul Hiall uARUL Ao Al A4l Ace UL 9P
(A) u‘lélalz

(B) usat
(C) ey
(D) 4

I have not been well I returned from Delhi.
(A) for

(B) when

(C) and

(D) since
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Q7.

0 8.

QO9.

Q 10.

Q 11.

Q 12.

Q 13.

Which out of the following is the most opposite in meaning to the
word - 'Manifold'?

(A) Numerous

(B) Various
(C) Scant

(D) Multifold

The murderer has to Australia.
(A) flee

(B) fled
(C) flown
(D) none of the above

Which out of the following is the most similar in meaning to the word
- 'Synopsis'?

(A) Diagnosis

(B) Surgery
(C) Crisis
(D) Epitome

If REQUEST is written as S2R52TU, then how will ACID be written?
(A) 1394

(B) IC94
(C) BDJE
(D) 1D3E

Union Cabinet has declared which day as 'National Space Day' in
India?

(A) 23rd August

(B) 22nd August

(C) 17th September

(D) 21st January

Which out of the following is the most opposite in meaning to the
word 'Mediocrity'?

(A) Brilliance

(B) Medium
(C) Mean
(D) Average

AL (Aseul Hiell sUl Ace daUel Aoe 'BIAREL o [R1v U &?
(A) Ry

(B) I

(C) A=HIA

(D) AR
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Q 14.

Q 15.

Q 16.

Q 17.

Q 18.

Q 19.

Q 20.

Pl Hog!' 3@ulat Al AL 242 12 Hiell sl (Aseu eauld 8.
(A) diRAUPLA HAOG

(B) AellRL oidq

(C) gal @] usdll

(D) §dl %

Which out of the following is the most opposite in meaning to the
word - 'Lame'?

(A) Weak

(B) Ineffective

(C) Defective

(D) Robust

International boundary line between India and Pakistan is known as

(A) Radchffe Line

(B) Durand Line

(C) 38th Parallel

(D) McMohan Line

The smallest number of five digits beginning with 3 and ending with
S will be

(A) 30005

(B) 31005
(C) 30015
(D) 30025

'RARAMHT Belirg' 3(@ulaL Al ARAL 2l AL Hiell sul [Aseu gald 8.
(A) AHL Ug

(B) 12l S om1éR A

(C) OcRA sloHi dq - d”l 59

(D) Yu ag

The public are cautioned __ pickpockets.
(A) for

(B) o
(C) agamst
(D) too

is the ex-officio Chairman of Rajya Sabha.
A) President
B) Vice President
C) Deputy Speaker
D) Prime Minister

(
(
(
(
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Q 21.

Q 22.

Q 23.

Q 24.

Q 25.

Q 26.

Q 27.

A 2 [Aseul Hizdl 'sHs' Aot -l AHIA Aot sul 9P
) §lll

W >

ﬁBW

—

) e
(C) u-«t
)

(

O
jeb)
A

'si- gl 3[@uAlaL AL AR 24 Al Hiell sl [dseu gauld 8.
(A) Yot s:dl

(B) GeUR g

(C) &9t scll

(D) di-t2l Aiciang

So long as the rain ____, I stayed at home.
(A) continue

(B) was continuing

(C) continued

(D) is continuing

Choose from the options, the correct version of the passive voice of
the below sentence.

Sohrab threw the ball.

(A) The ball is thrown by Sohrab

(B) The ball was thrown by Sohrab

(C) The ball was threw by Sohrab

(D) The ball is being thrown by Sohrab

The accident resulted ___ the death of five people.
(A) to

(B) for
(C) with
(D) none of the above

USS UY o 3euABdL Al AR 242 |2 Hiall sul [Aseu eld 8.
(A) vt Brel sldl

(B) ot U g

(C) HR HIRdl

(D) 1§ @dlg

Which out of the following is the most opposite in meaning to the
word - 'Luminary'?

(A) Genius

(B) Dunce
(C) Clear
(D) Sage
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Q 28.

Q 29.

Q 30.

Q 31.

Q 32.

Q 33.

Q 34.

India recently won the Asia Cup men's cricket trophy by beating
in the final.

(A) Sri Lanka

(B) Pakistan

(C) Bangladesh

(D) Afghanistan

Government imposed a complete ban on all kinds of crackers
in September 2023.
(A) Maharashtra
(B) Rajasthan
(C) New Delhi
(D) Haryana

Headquarters of UNESCO are located in ____.
(A) New York

(B) San Fransisco

(C) Paris

(D) London

Which out of the following is the most similar in meaning to the word
- 'Meteoric'?

(A) Permanent

(B) Order

(C) Momentary

(D) Misdeal

A 2 ([Aseul Hiell AuHIEH' Aot L [Qeuel 2oe sl 97
(A) GelxiH

(B) uRksi

(C) Ad1aH

(D) G4dll

Which out of the following is the most opposite in meaning to the
word - 'Cherish'?

(A) Nurture

(B) Entertain

(C) Discard

(D) Foster

Answer the first question before You ____ further.
(A) proceed

(B) proceeded

(C) will proceed

(D) are proceed
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Q 35.

Q 36.

Q 37.

Q 38.

Q 39.

Q 40.

Q 41.

What fraction of an hour is a second?
(A) 1/24

(B) 1/60
(C)1/120
(D) 1/3600

Choose from the options, the correct version of the passive voice of
the below sentence.

Columbus discovered America,

(A) America was discovered by Columbus.

(B) America got discovered through Columbus.

(C) America is discovered by Columbus.

(D) America was been discovered by Columbus.

Which out of the following is the most similar in meaning to the word
- 'Forbear'?

(A) Abstain
(B) Indulge

(C) Seek

(D) Power

He was punished, _  he was guilty.
(A) for
(B) but
(C) yet
(D) s

He was so tired that he ___ scarcely stand.

Many aspire ___ greatness, but few attained.
(A) with

(B) to

(C) in

(D)

against

How many times are the hands of a clock at right angle in a day?
(A) 22

(B) 2
(C) 4
(D) 4
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Q 42.

Q 43.

Q 44.

Q 45.

Q 46.

Q 47.

Q 48.

Early rising is beneficial ____ health.
(A) to

(B) with
(C) too
(D) four

Al et ([dseul Hiall 'a2H] ot Al AnR] Aoe Ul 9?
(A) AR

) dSH
(C) q&

) ulas

Which out of the following is the most similar in meaning to the word
'Fidelity'?

(A) Allegiance

(B) Treachery

(C) Disloyalty

(D) Unreal

A2 2 ([Aseul Higll 'dled’ 2ot Al (el 2oe Al 97
(A) 2R
(B) Al
(C) el-a
(D) adl

He went where he _ find work.
(A) goes to

(B) could

(C) can

(D) is
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Q 49.

Q 50.

Q 51.

Q 52.

Q 53.

Q 54.

Q 55.

A2 2 ([dseul Hiall 'AHddaAl AoE Al AHIAER] 2ot SUL 97
(A) -1ER

(B) Hievdl
(C) dzsalﬂ
(D) U=l

Choose from the options, the correct version of the passive voice of
the below sentence.

My cousin has drawn this picture.

(A) This picture has been drawn by my cousin.

(B) This picture was being drawn by my cousin.

(C) This picture is drawn by my cousin.

(D) This picture having been drawn by my cousin.

Which out of the following is the most similar in meaning to the word
- 'Obscure'?

(A) Reveal

(B) Conceal

(C) Discover

(D) Submissive

Which out of the following is the most opposite in meaning to the
word - 'Fragment'?

(A) Frame

(B) Odorous

(C) Scented

(D) Bulk

Which male player won the 'Purple Cap' Award in the IPL - 2023
season?

(A) Hardik Pandya

(B) Kagiso Rabada

(C) Mohammed Shami

(D) Rashid Khan

AL [Aseul Hiell Ul Ace daUEL Aot '$5566' o R 3u ©?
(A) HRHIRL

(B) uldstt

(C) viluvil

IREN]

The mule was partially relieved ___ the load.
(A) of

(B) off
(C) to
(D) b
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Q 56.

Q 57.

Q 58.

Q 59.

Q 60.

Q61.

Q 62.

The study of the history of life on earth as based on fossils is called
(A) Paleontology
(B) Taxonomy
(C) Pedology

(D) Oology

Christ __ his crucifiers.
(A) forgive
(B) forgave

(C) forgiven

(D) none of the above

If You subtract (-1) from (+1), what will be the result?

A ___is approximately one billion bytes.
(A) Kilobyte

(B) Bit

(C) Gigabyte

(D) Megabyte

Al AWM (dseu] Hiell 'Gan' 2ot -l [Gruell 2ot sUl 97?
(A) u

(B) AlA

(C) [Ads

(D) MRl

A2 2 ([Aseul Higll '[FHa' A0t -l (Gl gAoe UL 97
(A) (@t

(B) ot

C) R

(D) UG

Bitmap file has _____ extension.
(A) .bit

(B) .bmp

(C) .btm

(D) .bmt
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Q 63.

Q 64.

Q 65.

Q 66.

Q 67.

Q 68.

Q 69.

She _ her hands in agony.
(A) is wring

(B) was wring
(C) wring

(D) wrung

Which out of the following is the most similar in meaning to the word
- 'Filthy'?
(A) Purity
(B) Dirty
(C) Sweet
(D) Ambiguity

'Smart Vault' an automated digital locker facility is launched by _____
(A) HDFC Bank

(B) ICICI Bank

(C) YES Bank

(D) SBI

Who is the current cabinet rank minister of health and family welfare
in the State of Gujarat?

(A) Shri Kanubhai Desai

(B) Shri Rushikeshbhai Patel

(C) Shri Raghavjibhai Patel

(D) Shri Balvantsinhji Rajput

MPEG stands for
(A) Moving Pictures Export Group
(B) Moving Pictures Expert Group

(C) Moving Pictures Extra Group

(D) Moving Pictures Extension Group

'B9SL ulRdl' 3(@uAlol Al AR 212 A1 Hiell sul [dseu euld €.
(A) -y« Hidlg

(B) dlsq

(C) ARAL 2l

(D) el usq

Al 2t ([dseul Hiall '2isoy AHU Hi UL AUG' AcEAYS HI2 -l Vis Aot sUl O?
(A) uusIdlA

(B) sid

(C) sleldld
(D) 2R
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Q 70. Who currently holds the post of cabinet rank Minister of Commerce
and Industry, Government of India?
(A) Smt. Smriti Irani
(B) Smt. Nirmala Sitaraman
(C) Shri Arjun Munda
(D) Shri Piyush Goyal

Q 71. Which out of the following is the most similar in meaning to the word
- 'Fragile'?
(A) Hardy
(B) Exile
(C) Delicate
(D) Tough

Q 72. She has gone to Chennai, is her birthplace.
(A) which
(B) that
(C) and

(D) none of the above

Q 73. ____is not an output device.
(A) Monitor
(B) Printer
(C) Projector
(D) Keyboard
Q 74. Choose from the options, the correct version of the passive voice of
the below sentence.
Somebody has put out the light.
(A) The light has been put out.
(B) The light is turned out.
(C) The light will be put out.
(D) The light is being put out.

Q 75. Who currently holds the post of Prime Minister of Japan?
(A) Shinzo Abe
(B) Yoshihiko Noda
(C) Yoshihide Suga

(D) Fumio Kishida

Q 76. A e [Aseul Hiall ' A dqg uldat © d' AceAHs HER -l s Ace KU ?
(A) Yyousdls
(B) @SRl
(C) ioyyd
(D) €ll&xt
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Q 77.

Q 78.

Q 79.

Q 80.

Q 81.

Q 82.

Q 83.

Al 2t ([dseul Hiall 'aeR] A did sl d' AcEAYs HI2 -l Vs Aot sUl P
(A) ey

(B) Adlogl

(C) 2sew

(D) nldrllsa

Which out of the following is the greatest number of five digits exactly

divisible by 47.
(A) 99999

(B) 99947
(C) 99969
(D) 99994

What does the abbreviation 'NeVA' stand for in the context of the
inauguration by the President of India?

(A) National Energy Visionary Application

(B) National Environmental Virtual Assembly

(C) National e-Vidhan Application

(D) National Education Virtual Alliance

Which out of the following is the most opposite in meaning to the
word - 'Omniscient'?

(A) Almighty

(B) Infallible

(C) Ignorant

(D) Obedient

Pixel stands for ____ in computer.
(A) Picture Electron
(B) Picture Element
(C) Picture Electric
(D) Picture Election

Storage that retains it's data after the power is turned off is referred
toas

(A) volatile storage

(B) non volatile storage

(C) sequential storage

(D) direct storage

Which out of the following is the most opposite in meaning to the
word - 'Chide'?

(A) Rate

(B) Scold

(C) Reprimand

(D) Applaud
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Q 84.

Q 85.

Q 86.

Q 87.

0O 88.

0 89.

Q 90.

Which of the following is a permanent memory in the computer?
(A) ROM

(B) RA

(@) CPU
(D) None of the above

He went to Kolkata so that he __ find work.
(A) might

(B) may

(C) Both (A) and (B)

(D) none of the above

Not a drum was ____, not a funeral note.
(A) heard

(B) to be heard

(C) hear

(D) hearing

'©98 alis alandl' 3(uaiar Al ARL 242l A1 Higll sAl [Aseu elld 9.
(A) udt aq

(B) HIRL -Atuig

(C) A1 sl

(D) JHRGL Hi A

As he ___ not there, I spoke to his brother.

(A) was

(B) is
(C) went
(D) none of the above

Choose from the options, the correct version of the passive voice of

the below sentence.

We expect good news.

(A) Good news shall be expected.
(B) Good news will expect by me.
(C) Good news will be expected.
(D) Good news is expected.

What is the full form of PDA?
A) Personal data assistant

B) Personal digital assistant

C) Personal detail assistant

D) Personal database assistant

(
(
(
(
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Q 91. Which out of the following is the most similar in meaning to the word
- 'Menace'?
(A) Blessing
(B) Good - will
(C) Threat
(D) Remembrance

Q92. -l [Aseul Hiall sl 2Ace dauel Aot 'sACl’  [Re 3u BS?
(A) Sl
(B) [Hel
(C) slus
(D) USHI)

Q 93. There are certain number of benches in a classroom. If four students
sit on each bench then three benches remain unoccupied. If,
however, three students sit on each bench then three students
remain standing in the class. There are ____ number of students in
the class.

(A) 45
(B) 50
(C) 42
(D) 48

Q 94. He gazed solong ___ both his eyes were dazzled.
(A) that
(B) and
(C) for
(D) when

Q 95. Which male tennis player has won the most Grand Slam Singles
Titles in the open era?
(A) Novak Djokovic
(B) Rafael Nadal
(C) Roger Federer
(D) Pete Samprass

Q 96. He locked the papers up so that they _____ be safe.
(A) are
(B) may
(C) might

)
)
(D) were
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Q 97. Which out of the following is the most similar in meaning to the word
- 'Onerous'?
(A) Burdensome
(B) Light
(C) Easy
(D) Solely

Q 98. The burglar jumped ___ the compound wall.
(A) on
(B) over
(C) through
(D) in

Q 99. The wrong number in the sequence 22, 33, 66, 99, 121, 279, 594 is

79
21

U= N

Q 100. Rl e [Aseul Higll 'daredal H3\ ARG AGEAHs HE AL s Aot UL O?
(A) AHOURL
(B) (a-t=ll
(C) Het:ut
(D) 4Rid1ed
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0 1.

Q2.

Q 3.

Q 4.

Q5.

Q 6.

Which male tennis player has won the most Grand Slam Singles
Titles in the open era?

(A) Novak Djokovic

(B) Rafael Nadal

(C) Roger Federer

(D) Pete Samprass

A 2 [Aseul Hizdl 'sHs' Aot Al AR Aot sl 97

The murderer has to Australia.
(A) flee

(B) fled

(C) flown

(D) none of the above

Christ ____ his crucifiers.
(A) forgive

(B) forgave

(C) forgiven

(D) none of the above

'Smart Vault' an automated digital locker facility is launched by ____
(A) HDFC Bank

(B) ICICI Bank
(C) YES Bank
(D) SBI

Al et ([dseul Hiall '2isoy AHU Hi UG AUYG' AGEAYS HI2 -l s Aot SUL O?
(A) AMslelA

(B) 2sid
(C) sleldld
(D) 2R
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Q7.

0 8.

QO9.

Q 10.

Q11.

Q 12.

Q 13.

What does the abbreviation 'NeVA' stand for in the context of the
inauguration by the President of India?

(A) National Energy Visionary Application

(B) National Environmental Virtual Assembly

(C) National e-Vidhan Application

(D) National Education Virtual Alliance

He was punished, ___ he was guilty.
(A) for

(B) but

(C) yet

(D) s

Which out of the following is the greatest number of five digits exactly
divisible by 47.

(A) 99999

(B) 99947
(C) 99969
(D) 99994

She has gone to Chennai, is her birthplace.
(A) which

(B) that

(C) and

(D) none of the above

How many times are the hands of a clock at right angle in a day?
(A) 22

(B) 2
(C) 4
(D) 4

Who currently holds the post of Prime Minister of Japan?
(A) Shinzo Abe

(B) Yoshihiko Noda

(C) Yoshihide Suga

(D) Fumio Kishida

The mule was partially relieved ___ the load.
(A) of

(B) off

(C) to

(D) b
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Q 14.

Q 15.

Q 16.

Q 17.

Q 18.

Q 19.

Q 20.

Long indulgence ___ vice impaired his once robust constitution.
(A) to

(B) into

(C) in

(D)

for

Which out of the following is the most similar in meaning to the word
- 'Forbear'?

(A) Abstain
(B) Indulge

(C) Seek

(D) Power

The burglar jumped ___ the compound wall.
(A) on

(B) over

(C) through

(D) in

Which out of the following is the most opposite in meaning to the
word - 'Chide'?

(A) Rate

(B) Scold

(C) Reprimand

(D) Applaud

A2 2 ([Aseul Higll vAR—AL Ao AL AHLE] Aoe SUL 97
(A) ASleR

(B) usel
(C) e&oy
(D) 2uH§

If REQUEST is written as S2R52TU, then how will ACID be written?
(A) 1394

(B) IC94
(C) BDJE
(D) 1ID3E

Government imposed a complete ban on all kinds of crackers
in September 2023.
(A) Maharashtra
(B) Rajasthan
(C) New Delhi
(D) Haryana
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Q 21.

Q 22.

Q 23.

Q 24.

Q 25.

Q 26.

Q 27.

He went where he __ find work.
(A) goes to

(B) could

(C) can

(D) is

A2 et ([dseul Hiall 'og A dqg uldat & d' AeeAHs HI2 Al As Aoe KU B?
(A) yQusels

(B) orSeRd
(C) teqdyd
(D) €&t

Which out of the following is the most opposite in meaning to the
word - 'Cherish'?

(A) Nurture

(B) Entertain

(C) Discard

(D) Foster

Choose from the options, the correct version of the passive voice of
the below sentence.

Columbus discovered America,

(A) America was discovered by Columbus.

(B) America got discovered through Columbus.

(C) America is discovered by Columbus.

(D) America was been discovered by Columbus.

He was so tired that he ___ scarcely stand.
(A) could

(B) may
(C) can
(D) might

Which of the following is a permanent memory in the computer?
A) ROM

(

(B) RA

(@) CPU
(D) None of the above

He locked the papers up so that they ____ be safe.
(A) are

(B) may
(C) might
(D) were
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Q 28.

Q 29.

Q 30.

Q 31.

Q 32.

Q 33.

97PS

International boundary line between India and Pakistan is known as

(A) Radchffe Line
(B) Durand Line
(C) 38th Parallel
(D) McMohan Line

Choose from the options, the correct version of the passive voice of
the below sentence.

Sohrab threw the ball.

(A) The ball is thrown by Sohrab

(B) The ball was thrown by Sohrab

(C) The ball was threw by Sohrab

(D) The ball is being thrown by Sohrab

Early rising is beneficial ____ health.
(A) to

(B) with
(C) too
(D) four

Which among the following planets does not have any satellite?
(A) Jupiter
(B) Venus

(C) Saturn

(D) Uranus

Choose from the options, the correct version of the passive voice of
the below sentence.

My cousin has drawn this picture.

(A) This picture has been drawn by my cousin.

(B) This picture was being drawn by my cousin.

(C) This picture is drawn by my cousin.

(D) This picture having been drawn by my cousin.

Union Cabinet has declared which day as 'National Space Day' in
India?

(A) 23rd August

(B) 22nd August

(C) 17th September

(D) 21st January
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Q 34.

Q 35.

Q 36.

Q 37.

Q 38.

Q 39.

Q 40.

Answer the first question before You ____ further.
(A) proceed

(B) proceeded

(C) will proceed

(D) are proceed

India recently won the Asia Cup men's cricket trophy by beating
in the final.

(A) Sri Lanka

(B) Pakistan

(C) Bangladesh

(D) Afghanistan

What is the full form of PDA?
(A) Personal data assistant

(B) Personal digital assistant
(C) Personal detail assistant

(D) Personal database assistant

(D) none of the above

Choose from the options, the correct version of the passive voice of
the below sentence.

Somebody has put out the light.

(A) The light has been put out.

(B) The light is turned out.

(C) The light will be put out.

(D) The light is being put out.

The study of the history of life on earth as based on fossils is called

(A) Paleontology

(B) Taxonomy

(C) Pedology

(D) Oology

Many aspire ___ greatness, but few attained.
(A) with

(B) to

(C) in

(D) against
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Q 41.

Q 42.

Q 43.

Q 44.

Q 45.

Q 46.

97PS

What fraction of an hour is a second?
(A) 1/24

(B) 1/60
(C)1/120
(D) 1/3600

Which out of the following is the most opposite in meaning to the
word - 'Manifold'?

(A) Numerous

(B) Various

(C) Scant

(D) Multifold

They have ___ their tongue to speak lies.
(A) teach

(B) taught

(C) teaching

(D) are teaching

There are certain number of benches in a classroom. If four students
sit on each bench then three benches remain unoccupied. If,
however, three students sit on each bench then three students
remain standing in the class. There are ____ number of students in
the class.

(A) 45

(B) 50

(C) 42

(D) 48

If You subtract (-1) from (+1), what will be the result?

Who is the current cabinet rank minister of health and family welfare
in the State of Gujarat?

(A) Shri Kanubhai Desai

(B) Shri Rushikeshbhai Patel

(C) Shri Raghavjibhai Patel

(D) Shri Balvantsinhji Rajput

~

B
C
D

~— — —
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Q 47.

Q 48.

Q 49.

Q 50.

Q 51.

Q 52.

Q 53.

The smallest number of five digits beginning with 3 and ending with
5 will be :

(A) 30005

(B) 31005

(C) 30015

(D) 30025

'St wRdl' 3@yl Al ALRA 4 AR Hiell sul [dsey equld 9.
(A) -u 2 Hidg

(B) dlsq

(C) ARAUL 82l

(D) o€l usq

What was the day of the week on 15th August, 1947?
(A) Friday
(B) Thursday

(C) Monday

(D) Saturday

A2 2qdd (Aseul Hizll 'daredl HRA ARG AceUYs HI2 -l AS Aot sUL BD?
(A) AHALL

(B) (a-t=ll

(C) Hel:urse

(D) 431

Not a drum was ____, not a funeral note.
(A) heard

(B) to be heard

(C) hear

(D) hearing

Pl Hag' 3levalat Al AL 242 12 Hiell sl [Aseu eauld 8.
(A) dRAWLLA HAOY

(B) wellRL oidq

(C) el &) usdl

(D) §dl %q

A2 21 ([Aseul Higll '2adal Aot Al AHL-El Aot UL 97
(A) A-1ER

(B) Hievdl

(C) dseRl

(D) U1l
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Q 54.

Q 55.

Q 56.

Q 57.

Q 58.

Q 59.

Q 60.

Which out of the following is the most similar in meaning to the word
- 'Menace'?

(A) Blessing
(B) Good - will

(C) Threat

(D) Remembrance

Al 2t ([dseul Hiall 'Gun' et -l [Aulel ot Ul BS?
(A) ovd

(B) 2aA

C) ([Ads

(D) WAl

—_—

He gazed so long ___ both his eyes were dazzled.
(A) that

(B) and
(C) for
(D) when

AL [Aseul Hizll sl Aot dauel Aot 'sudl f Qe 3u 8?
(A) éladl

(B) el
(C) stus
(D) AUSHI)

Which out of the following is the most opposite in meaning to the
word 'Mediocrity'?

(A) Brilliance

(B) Medium
(C) Mean
(D) Average

Headquarters of UNESCO are located in ____
(A) New York

(B) San Fransisco
(C) Paris

(D) London

Which out of the following is the most opposite in meaning to the
word - 'Lame'?

(A) Weak

(B) Ineffective

(C) Defective

(D) Robust
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Q 61. Which out of the following is the most similar in meaning to the word

- 'Filthy'?

(A) Purity

(B) Dirty
(C) Sweet
(D) Ambiguity

Q 62. The public are cautioned ____ pickpockets.
(A )for
(B) o
(C )agamst
(D) too

Q 63. Which out of the following is the most similar in meaning to the word
- 'Onerous'?
(A) Burdensome
(B) Light
(C) Easy
(D) Solely

Q 64. Storage that retains it's data after the power is turned off is referred
toas
(A) volatile storage
(B) non volatile storage
(C) sequential storage
(D) direct storage

Q 65. Which out of the following is the most similar in meaning to the word
- 'Obscure'?
(A) Reveal
(B) Conceal

(C) Discover

(D) Submissive

Q 66. A wld [Aseul Hiall 'a2H]' 2ot -l AR ot sUl H?
(A) AR
(B) Clu{
(C) 4
(D) u(éls

Q 67. Which out of the following is the most similar in meaning to the word
- 'Meteoric'?

A) Permanent

B) Order

C) Momentary

D)

(
(
(
(D) Misdeal
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Q 68.

Q 69.

Q 70.

Q71.

Q 72.

Q 73.

Q 74.

AL (Aseul Hiell Ul AcE daUEl Aot '$5366' o R 3u O?
A) HRHIRL

B) uldstl

C) vilAlv{lx
D)

Megabyte

B)
C) Projector
D) Keyboard

A2 24dd (Aseul Hizll 'aeiR) A dld 5l d' AegAHs HE2 -l s Aot KUL P
(A) ey

(B) Adlogl

(C) ¢xse

(D) Al

is the ex-officio Chairman of Rajya Sabha.
(A) President
(B) Vice President
(C) Deputy Speaker
(D) Prime Minister

Pixel stands for __ in computer.
(A) Picture Electron
(B) Picture Element
(C) Picture Electric
(D) Picture Election

Who currently holds the post of cabinet rank Minister of Commerce
and Industry, Government of India?

(A) Smt. Smriti Irani

(B) Smt. Nirmala Sitaraman

(C) Shri Arjun Munda

(D) Shri Piyush Goyal
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Q 75.

Q 76.

Q77.

Q 78.

Q 79.

Q 80.

Q 81.

MPEG stands for
(A) Moving Pictures Export Group

(B) Moving Pictures Expert Group

(C) Moving Pictures Extra Group

(D) Moving Pictures Extension Group

The accident resulted ___ the death of five people.
(A) to

(B) for

(C) with

(D) none of the above

'RARAMHT Belirg' 3(@ulaL Al ARAL 2l AR Hizll sul [Aseu gald 8.

(A) AHL Ug

(B) H12l S-H om1éR uqg

(C) Bt sloi A9 - sl 59
(D) vt A

Which out of the following is the most opposite in meaning to the

word - 'Omniscient'?
(A) Almighty
(B) Infallible
(C) Ignorant
(D) Obedient

A2 AWM (dseul Hiall 'dlea’ 2ot -l [Qael 2oe sUl 97
(A) R
(B) Al
(C) el-a
(D) adl

She __ her hands in agony.
(A) is wring

(B) was wring

(C) wring

(D) wrung

'89S dlis aladl' 3luloL Al ALAL 42l A1 Hizll sl [Asey e2uld .

A) udlu- g

B) HIR\ g

C) DD scl
D) MWL Hi _Ang

(
(
(
(
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Q 82.

Q 83.

Q 84.

Q 85.

Q 86.

Q 87.

Q 88.

'si- gl 3leulol Al ARAL 42l A1 Hiell sl [Aseu euld 8.
(A) yext s:dl

(B) GUR g

(C) 8ot scll

(D) edi-t2ll Aiciang

Which out of the following is the most opposite in meaning to the
word - 'Luminary'?

(A) Genius

(B) Dunce
(C) Clear
(D) Sage

USS UY g 3[@uABL AL AR 242 12 Hizll sl [Aseu elld 8.
(A) v Brel sldl

(B) elodl U o

(C) HIR HIRdl

(D) 1§ @ldlg

So long as the rain ___, I stayed at home.
(A) continue

(B) was continuing

(C) continued

(D) is continuing

I have not been well I returned from Delhi.
(A) for

(B) when

(C) and

(D) since

A 2 ([Aseul Higll 'HeHIEH' Aot L [l Aoe UL 97
(A) GotlciH

(B) ulRsiu

(C) AdlaH

(D) &4l

Which out of the following is the most similar in meaning to the word
'Fidelity'?

(A) Allegiance

(B) Treachery

(C) Disloyalty

(D) Unreal

SET 3 Page 13
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Q 89.

Q 90.

Q91.

Q 92.

Q 93.

Q 94.

Q 95.

Bitmap file has __ extension.
(A) .bit

(B) .bmp
(C) .btm
(D) .bmt

The wrong number in the sequence 22, 33, 66, 99, 121, 279, 594 is

79
21

U= N

Which out of the following numbers is divisible by 3, 7, 9 and 11?
(A) 639
(B) 2079

(C) 3791

(D) 37911

He went to Kolkata so that he ___ find work.
(A) might

(B) may

(C) Both (A) and (B)

(D) none of the above

Choose from the options, the correct version of the passive voice of
the below sentence.

We expect good news.

(A) Good news shall be expected.

(B) Good news will expect by me.

(C) Good news will be expected.

(D) Good news is expected.

Which out of the following is the most similar in meaning to the word
- 'Fragile'?

(A) Hardy

(B) Exile

(C) Delicate

(D) Tough

9,12, 11, 14, 13, ___, 15
(A) 12

(B) 1

(€)1
(D) 17

SET 3 Page 14



Q 96. Which male player won the 'Purple Cap' Award in the IPL - 2023
season?
(A) Hardik Pandya
(B) Kagiso Rabada
(C) Mohammed Shami
(D) Rashid Khan

Q97. AR [Aseul izl sl 26E dAUEL AoE 'AIAREL o (R 3u &?
(A) Ry
(B) aAId
(C) A=HIA
(D) AlER

Q 98. Which out of the following is the most similar in meaning to the word
- 'Synopsis'?
(A) Diagnosis
(B) Surgery
(C) Crisis
(D) Epitome

Q99. A 2d (Aseul digll '[RHo 2ot -l [Aael 2uoe sl 97
(A) Hl&A
(B) o5t

)
C) R
(D) UG

Q 100. Which out of the following is the most opposite in meaning to the
word - 'Fragment'?
(A) Frame
(B) Odorous
(C) Scented
(D) Bulk
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0 1.

Q2.

Q 3.

Q 4.

Q5.

0 6.

Which out of the following is the most opposite in meaning to the
word - 'Omniscient'?

(A) Almighty

(B) Infallible

(C) Ignorant

(D) Obedient

So long as the rain ____, I stayed at home.
(A) continue

(B) was continuing

(C) continued

(D) is continuing

A AWM (dseul Higll AaHEH’ Aot L [Qeuell 2oe sl 897
(A) GotHlciH

(B) ulRsiu

(C) A2

(D) &4l

India recently won the Asia Cup men's cricket trophy by beating
in the final.

(A) Sri Lanka

(B) Pakistan

(C) Bangladesh

(D) Afghanistan

Which out of the following is the most opposite in meaning to the
word - 'Cherish'?

(A) Nurture

(B) Entertain

(C) Discard

(D) Foster

Which out of the following is the most opposite in meaning to the
word 'Mediocrity'?

(A) Brilliance

(B) Medium

(C) Mean

(D) Average
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Q7.

Q 8.

QO.

Q 10.

Q11.

Q 12.

Q 13.

USS UG g leuAdL Al AL 442 A2 Hizll sl [Aseu eauld 8.
) yot BREL sldl

B) xletl U8 g

C) HR HRdl

D) HI§ @il

(A
(
(
(

Choose from the options, the correct version of the passive voice of

the below sentence.

My cousin has drawn this picture.

(A) This picture has been drawn by my cousin.

(B) This picture was being drawn by my cousin.
(C) This picture is drawn by my cousin.

(D) This picture having been drawn by my cousin.

ARl A e [dseul Higll 'sAs' Aot Al AHIA R Aot sUl 9P
(A) §‘“

QW
£ @

H-’&d

—

)€
)
)

jap]
A

(D

is the ex-officio Chairman of Rajya Sabha.
A) President
B) Vice President
C) Deputy Speaker
D) Prime Minister

(
(
(
(

The murderer has to Australia.
(A) flee

(B) fled
(C) flown
(D) none of the above

He went where he _ find work.
(A) goes to

(B) could
(C) can
(D) is

Which male player won the 'Purple Cap' Award in the IPL - 2023

season?

(A) Hardik Pandya

(B) Kagiso Rabada

(C) Mohammed Shami
(D) Rashid Khan
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Q 14.

Q 15.

Q 16.

Q17.

Q 18.

0 19.

Q 20.

The public are cautioned ____ pickpockets.
(A )for

(B) o
(C) agamst
(D) too

The accident resulted ___ the death of five people.
(A) to

(B) for
(C) with
(D) none of the above

Christ ____ his crucifiers.
(A) forgive

(B) forgave

(C) forgiven

(D) none of the above

Not a drum was ____, not a funeral note.
(A) heard

(B) to be heard
(C) hear

(D) hearing

AL [Aseul Hiell Sl AoE dAUEL Aot '$5366' o R 3u O?
(A) HRHRL
(B) uldstt
(C) viluluil
)

(D

A ___ is approximately one billion bytes.
A) Kilobyte

B) Bit

C) Gigabyte

D) Megabyte
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Q 21.

Q 22.

Q 23.

Q 24.

Q 25.

Q 26.

Q 27.

They have ___ their tongue to speak lies.
(A) teach

(B) taught

(C) teaching

(D) are teaching

The mule was partially relieved ___ the load.
(A) of

(B) off

(C) to

(D) b

Choose from the options, the correct version of the passive voice of
the below sentence.

We expect good news.

(A) Good news shall be expected.

(B) Good news will expect by me.

(C) Good news will be expected.

(D) Good news is expected.

_____is not an output device.
(A) Monitor

(B) Printer

(C) Projector

(D) Keyboard

What does the abbreviation 'NeVA' stand for in the context of the
inauguration by the President of India?

(A) National Energy Visionary Application

(B) National Environmental Virtual Assembly

(C) National e-Vidhan Application

(D) National Education Virtual Alliance

Who currently holds the post of cabinet rank Minister of Commerce
and Industry, Government of India?

(A) Smt. Smriti Irani

(B) Smt. Nirmala Sitaraman

(C) Shri Arjun Munda

(D) Shri Piyush Goyal

Which out of the following is the most similar in meaning to the word
- 'Forbear'?

A) Abstain

B) Indulge
C) Seek
D) Power

(
(
(
(
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Q 28.

Q 29.

0 30.

Q 31.

Q 32.

Q 33.

Q 34.

Which male tennis player has won the most Grand Slam Singles
Titles in the open era?

(A) Novak Djokovic

(B) Rafael Nadal

(C) Roger Federer

(D) Pete Samprass

AL (Aseul Hiell sUl A6E dauel Aot 'BIAREL o (Rl 3u &?
(A) Ry

(B) I
(C) A=HIA
(D) AlER

A2 24 (Aseul Hizll ‘oz A dg ulda & d' AoeAHs HIZ -l s Aot AL B?
(A) ygusdls

(B) @SRl

(C) Aeictyd

(D) €llst

Which out of the following is the most similar in meaning to the word
- 'Onerous'?

(A) Burdensome

(B) Light
(C) Easy
(D) Solely

Many aspire ___ greatness, but few attained.
(A) with

(B) to
(C) in
(D) against

A2 2 ([Aseul Higll AR Ao AL AHLE] Ace SUL 97
(A) USER

(B) usel
(C) e&oy
(D) 2uHg

Which out of the following is the most similar in meaning to the word
- 'Menace'?

) Blessing

) Good - will

) Threat

D) Remembrance

(A
(B
(C
(D

SET 4 Page 5
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Q 35.

Q 36.

Q 37.

Q 38.

Q 39.

Q 40.

Q 41.

He was so tired that he ___ scarcely stand.
(A) could

(B) may
(C) can
(D) might

Which out of the following is the most similar in meaning to the word
- 'Obscure'?

(A) Reveal

(B) Conceal

(C) Discover

(D) Submissive

Who is the current cabinet rank minister of health and family welfare
in the State of Gujarat?

(A) Shri Kanubhai Desai

(B) Shri Rushikeshbhai Patel

(C) Shri Raghavjibhai Patel

(D) Shri Balvantsinhji Rajput

What is the full form of PDA?
(A) Personal data assistant

(B) Personal digital assistant
(C) Personal detail assistant

(D) Personal database assistant

~—— S — N—

Al AWM (Aseul Hiall '[AH' et L (Al 2oe sul 897
(A) HléEA

(B) 9vd
C) R
(D) AR

Which out of the following is the most similar in meaning to the word
- 'Synopsis'?

(A) Diagnosis

(B) Surgery
(C) Crisis
(D) Epitome

Choose from the options, the correct version of the passive voice of
the below sentence.

Columbus discovered America,

(A) America was discovered by Columbus.

(B) America got discovered through Columbus.

(C) America is discovered by Columbus.

(D) America was been discovered by Columbus.
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Q 42.

Q 43.

Q 44.

Q 45.

Q 46.

Q 47.

Q 48.

Early rising is beneficial ____ health.
(A) to

(B) with
(C) too
(D) four

Which out of the following is the most opposite in meaning to the
word - 'Luminary'?

(A) Genius

(B) Dunce
(C) Clear
(D) Sage

Which out of the following is the most similar in meaning to the word
- 'Filthy'?
(A) Purity
(B) Dirty
(C) Sweet
(D) Ambiguity

Which out of the following is the most similar in meaning to the word
'Fidelity'?

(A) Allegiance

(B) Treachery

(C) Disloyalty

(D) Unreal

Union Cabinet has declared which day as 'National Space Day' in
India?

(A) 23rd August

(B) 22nd August

(C) 17th September

(D) 21st January

If REQUEST is written as S2R52TU, then how will ACID be written?

Government imposed a complete ban on all kinds of crackers
in September 2023.
(A) Maharashtra
(B) Rajasthan
(C) New Delhi
(D) Haryana
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Q 49.

Q 50.

Q 51.

Q 52.

Q 53.

Q 54.

Q 55.

He gazed so long _____ both his eyes were dazzled.
(A) that

(B) and
(C) for
(D) when

As he ___ not there, I spoke to his brother.
(A) was

(B) is

(C) went
(D) none of the above

Storage that retains it's data after the power is turned off is referred
to as

(A) volatile storage

(B) non volatile storage

(C) sequential storage

(D) direct storage

Which out of the following is the most opposite in meaning to the
word - 'Chide'?

(A) Rate

(B) Scold

(C) Reprimand

(D) Applaud

He went to Kolkata so that he __ find work.
(A) might

(B) may

(C) Both (A) and (B)

(D) none of the above

‘UM BRg' 3(eular Al Al el A1 Hiell sl ([dseu exld ©.
(A) AHL Ug

(B) Hl&l S om1éR uq

(C) B sloHi dq - a”l 539

(D) put ud

Answer the first question before You ____ further.
(A) proceed

(B) proceeded

(C) will proceed

(D) are proceed

SET 4 Page 8
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Q 56.

Q 57.

Q 58.

Q 59.

Q 60.

Q61.

Al et ([dseul Hiall 'a2Hw] ot Al AnR] Aoe Ul 9P
(A) AR
A&

.

B)

C) CPU
D) None of the above

Which out of the following is the most opposite in meaning to the
word - 'Manifold'?

(A) Numerous

(B) Various

(C) Scant
(D) Multifold

'St wiRdl' 3[@uAlaL Al A1RA 4 AR Hiell sul [dsey equld ©.
(A) -1 e Hidlg

(B) dlsq

(C) ARAL 82l

(D) o€l usq

Pixel stands for ____ in computer.
(A) Picture Electron
(B) Picture Element
(C) Picture Electric
(D) Picture Election

There are certain number of benches in a classroom. If four students

sit on each bench then three benches remain unoccupied. If,
however, three students sit on each bench then three students

remain standing in the class. There are ____ number of students in
the class.
(A) 45
(B) 50
(C) 42
(D) 48
SET 4
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Q 62.

Q 63.

Q 64.

Q 65.

Q 66.

Q 67.

Q 68.

Choose from the options, the correct version of the passive voice of
the below sentence.

Sohrab threw the ball.

(A) The ball is thrown by Sohrab

(B) The ball was thrown by Sohrab

(C) The ball was threw by Sohrab

(D) The ball is being thrown by Sohrab

Al [dseul Higll sl 20e dael Aot 'sAdl’  [Rve 3u &?
(A) éladl

(B) [Ael

(C) stus

(D) USHI)

Pl Hog' 3levulat Al AL 242 12 Hiell sl [dseu eauld 8.
(A) dRAWLA HAOY

(B) wellRL oidq

(C) el &) usdl

(D) §dl %9

Which out of the following is the most opposite in meaning to the
word - 'Lame'?

(A) Weak

(B) Ineffective

(C) Defective

(D) Robust

Which out of the following is the most opposite in meaning to the
word - 'Fragment'?

(A) Frame

(B) Odorous

(C) Scented

(D) Bulk

Headquarters of UNESCO are located in _____
(A) New York

(B) San Fransisco

(C) Paris

(D) London

9,12, 11, 14, 13, __, 15
(A) 12

(B) 1

(€)1
(D) 17
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Q 69.

Q 70.

Q71.

Q 72.

Q 73.

Q 74.

Q 75.

Which out of the following is the greatest number of five digits exactly
divisible by 47.

(A) 99999

(B) 99947
(C) 99969
(D) 99994

'St gal' 3@uAIaL AL ARAL 42l Al Hizll sl [Aseu guld ©.
(A) you sdl

(B) GHIR g

(C) ont sl

(D) &di-t2ll Aieiang

Which out of the following is the most similar in meaning to the word
- 'Meteoric'?

(A) Permanent

(B) Order

(C) Momentary

(D) Misdeal

Which out of the following numbers is divisible by 3, 7, 9 and 11?
(A) 639

(B) 2079

(C) 3791
(D) 37911

MPEG stands for

(A) Moving Pictures Export Group

(B) Moving Pictures Expert Group

(C) Moving Pictures Extra Group

(D) Moving Pictures Extension Group

Who currently holds the post of Prime Minister of Japan?
(A) Shinzo Abe

(B) Yoshihiko Noda

(C) Yoshihide Suga

(D) Fumio Kishida

Long indulgence ___ vice impaired his once robust constitution.
(A) to

(B) into

(C) in

(D)

for
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Q 76.

Q 77.

Q 78.

Q 79.

0 80.

0 81.

Q 82.

A 2 [Aseul Hizl 'GuH' 2ot -l [Aaell 2lee sul 97

Al 2t ([dseul Hiall 'uasa-l Aot -l AR loe sul P
(A) -1ER
(B) Hievel
(C) dsERL
(D) U1l
Which among the following planets does not have any satellite?
(A) Jupiter
(B) Venus
(C) Saturn
(D) Uranus
She _ her hands in agony.
A) is wring
was wring

'®98 alis alandl' 3fuaiar Al ARI 242l A2 uigll sAl [Aseu elld 9.
(A) ua ag

(B) HIR Aluig

(C) A1 sl

(D) JHRGL Hi Awq

International boundary line between India and Pakistan is known as

(A) Radcliffe Line
(B) Durand Line
(C) 38th Parallel
(D) McMohan Line

He locked the papers up so that they ___ be safe.
(A) are

(B) may
(C) might
(D) were

SET 4

Page 12



97PS

Q 83.

Q 84.

Q 85.

Q 86.

Q 87.

Q 88.

Q 89.

The study of the history of life on earth as based on fossils is called

(A) Paleontology
(B) Taxonomy
(C) Pedology

(D) Oology

What fraction of an hour is a second?
(A) 1/24
(B) 1/60
(C) 1/120
(D) 1/3600

Which out of the following is the most similar in meaning to the word
- 'Fragile'?

(A) Hardy

(B) Exile

(C) Delicate

(D) Tough

He was punished, ___ he was guilty.
(A) for

(B) but

(€C) yet

(D) s

She has gone to Chennai, is her birthplace.
(A) which

(B) that

(C) and

(D) none of the above

The burglar jumped __ the compound wall.
(A) on
(B) over
(C) through
)i
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Q 90.

Qol.

Q 92.

Q 93.

Q 94.

Q 95.

Q 96.

Al 210t ([dseul Hiall 'qareal HR ARG AeEAHS HI@ -l s Act AL BD?
(A) AHeUSL

(B) 2(a-t=ll
(C) Hel:uit
(D) 2Rid1d

I have not been well I returned from Delhi.
(A) for

(B) when
(C) and
(D) since

The wrong number in the sequence 22, 33, 66, 99, 121, 279, 594 is

'Smart Vault' an automated digital locker facility is launched by _____
(A) HDFC Bank

(B) ICICI Bank

(C) YES Bank

(D) SBI

Choose from the options, the correct version of the passive voice of
the below sentence.

Somebody has put out the light.

(A) The light has been put out.

(B) The light is turned out.

(C) The light will be put out.

(D) The light is being put out.

A2 21dd (Aseul Hizll 'aaiR) 4 dld 5l d' AsgAHs HE2 -l s Aot KUL P
(A) ey

(B) Adlogl
(C) ¢xse
(D) Al

Bitmap file has _  extension.
(A) .bit

(B) .bmp
(C) .btm
(D) .bmt

SET 4 Page 14



Q 97. What was the day of the week on 15th August, 1947?
(A) Friday
(B) Thursday
(C) Monday

(D) Saturday

Q98. A e (Aseul Hiall iy AHU Hi UL G AL HE2 Al As Aoe KU B?
(A) uusIdlH
(B) 2sid
(C) sleldld
(D) AR

Q 99. The smallest number of five digits beginning with 3 and ending with
5 will be :
(A) 30005
(B) 31005
(C) 30015
(D) 30025

Q 100. How many times are the hands of a clock at right angle in a day?
(A) 22
(B) 24
(C) 44
(D) 48
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Q 1. Which out of the following is the most opposite in meaning to the
word - 'Fragment'?
(A) Frame
(B) Odorous
(C) Scented
(D) Bulk

Q 2. The burglar jumped ___ the compound wall.
(A) on
(B) over
(C) through
(D) in

Q 3. The accident resulted ___ the death of five people.
(A) to
(B) for
(C) with
(D) none of the above

Q 4. What does the abbreviation 'NeVA' stand for in the context of the
inauguration by the President of India?
(A) National Energy Visionary Application

(B) National Environmental Virtual Assembly

(C) National e-Vidhan Application

(D) National Education Virtual Alliance

Q5. Solongastherain___ ,Istayed at home.
(A) continue

(B) was continuing

(C) continued

(D) is continuing

Q 6. Which out of the following is the most similar in meaning to the word
- 'Forbear'?
(A) Abstain
(B) Indulge
(C) Seek
(D) Power
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Q7.

Q 8.

QO9.

Q 10.

Q 11.

Q 12.

0 13.

Which out of the following numbers is divisible by 3, 7, 9 and 11?
(A) 639

(B) 2079
(C) 3791
(D) 37911

Which out of the following is the most similar in meaning to the word
- 'Obscure'?

(A) Reveal

(B) Conceal

(C) Discover

(D) Submissive

Answer the first question before You ____ further.
(A) proceed

(B) proceeded

(C) will proceed

(D) are proceed

The smallest number of five digits beginning with 3 and ending with
S will be

(A) 30005

(B) 31005
(C) 30015
(D) 30025

Which out of the following is the most opposite in meaning to the
word 'Mediocrity'?

(A) Brilliance

(B) Medium
(C) Mean
(D) Average

He was punished, _ he was guilty.
(A) for

(B) but

(@) yet

(D) s

Storage that retains it's data after the power is turned off is referred
to as

(A) volatile storage

(B) non volatile storage

(C) sequential storage

(D) direct storage
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Q 14.

Q 15.

Q 16.

Q 17.

Q 18.

Q 19.

Q 20.

97PS

Which male tennis player has won the most Grand Slam Singles
Titles in the open era?

(A) Novak Djokovic

(B) Rafael Nadal

(C) Roger Federer

(D) Pete Samprass

Not a drum was ____, not a funeral note.
(A) heard

(B) to be heard
(C) hear

(D) hearing

Which out of the following is the most opposite in meaning to the
word - 'Luminary'?

(A) Genius

(B) Dunce
(C) Clear
(D) Sage

Who currently holds the post of cabinet rank Minister of Commerce
and Industry, Government of India?

(A) Smt. Smriti Irani

(B) Smt. Nirmala Sitaraman

(C) Shri Arjun Munda

(D) Shri Piyush Goyal

Choose from the options, the correct version of the passive voice of
the below sentence.

We expect good news.

(A) Good news shall be expected.

(B) Good news will expect by me.

(C) Good news will be expected.

(D) Good news is expected.

Early rising is beneficial ____ health.
(A) to

(B) with
(C) too
(D) four

What is the full form of PDA?
A) Personal data assistant

) Personal digital assistant

) Personal detail assistant

) Personal database assistant

(
(B
(
(

C
D
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Q 21.

Q 22.

Q 23.

Q 24.

Q 25.

Q 26.

Q 27.

Al 2t ([dseul Hiall 'aeR] A did sl d' AceAYs HI2 -l Vs Aot sUl P
(A) ey

(B) Adlogl

(C) 2sew

(D) nldrllsa

What fraction of an hour is a second?
(A) 1/24

(B) 1/60

(C)1/120

(D) 1/3600

Which out of the following is the most opposite in meaning to the
word - 'Omniscient'?

(A) Almighty

(B) Infallible

(C) Ignorant

(D) Obedient

Al AWM (dseul Hiell 'Gan' 2ot -l [Gruell 2ot sUl 97
(A) o

(B) AlA

(C) [dds

(D) WAl

If REQUEST is written as S2R52TU, then how will ACID be written?
(A) 1394

(B) IC94

(C) BDJE

(D) 1D3E

Which out of the following is the most opposite in meaning to the
word - 'Chide'?

(A) Rate

(B) Scold

(C) Reprimand

(D) Applaud

Long indulgence ___ vice impaired his once robust constitution.
(A) to

(B) into

(C) in

(D)

for
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Q 28.

Q 29.

Q 30.

Q 31.

Q 32.

Q 33.

Q 34.

He locked the papers up so that they ____ be safe.
(A) are

(B) may
(C) might
(D) were

Al 2t ([dseul Hiall 'a2H] ot Al Aui-R] oe Ul 9?
(A) AR
B C{éu
(C) 9.
(

—

H@{S

~— — —

Many aspire ___ greatness, but few attained.
(A) with

(B) to

(C) in

(D)

A 2 ([dseul Hiall uARUdl Ao Al A4l Aoe UL P
(A) USER

(B) usel
(C) ey
(D) a1

against

Which out of the following is the most similar in meaning to the word
- 'Synopsis'?

(A) Diagnosis

(B) Surgery

(C) Crisis

(D) Epitome

As he ___ not there, I spoke to his brother.
(A) was

(B) is

(C) went

(D) none of the above

A ___is approximately one billion bytes.
(A) Kilobyte
(B) Bit
(C) Gigabyte
(D) Megabyte
SET5
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Q 35.

Q 36.

Q 37.

Q 38.

Q 39.

Q 40.

Q 41.

Pixel stands for ____ in computer.
(A) Picture Electron
(B) Picture Element
(C) Picture Electric
(D) Picture Election

Which out of the following is the most similar in meaning to the word
- 'Filthy'?
(A) Purity
(B) Dirty
(C) Sweet
(D) Ambiguity

A2 2 (Aseul Hizll s AHU Ui AL ARG AcEUYS HIR2 -l s Aot SUL H?
(A) uHsIdlH

(B) 2sid

(C) steldld

(D) a4

A2 2 (Aseul Hizll ‘oz A dq ulda & d' AoeAHs HIZ -l s Aot AL B?

(A) Yousdls

(B) @SRl

(C) Aeictyd
)

_

(D) €lls~t

____is not an output device.

(A) Monitor

(B) Printer

(C) Projector

(D) Keyboard

'RAlRAMHT Belirg' 3(@ulaL Al AR 12l AL Hiell sul [Aseu gxld ©.
(A) AWML U]

(B) H12l S om1eR g

(C) DR slogHi dq - a”l 539

(D) vt g

AL [Aseul Hiell sUl Aot daUEl Aoe 'BIAREL o [RIv U &?
(A) 2R

(B) eWdLct
(C) AHIA
(D) AL
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Q 42.

Q 43.

Q 44.

Q 45.

Q 46.

Q 47.

Q 48.

A 2 [Aseul Hizdl 'sHs' Aot -l AHIAI Aot sul 9P
9,12, 11, 14, 13, , 15

Which out of the following is the most similar in meaning to the word
- 'Fragile'?

(A) Hardy

(B) Exile

(C) Delicate

(D) Tough

The public are cautioned pickpockets.
(A) for

(B) o
(C )agamst
(D) too

Who is the current cabinet rank minister of health and family welfare
in the State of Gujarat?

(A) Shri Kanubhai Desai

(B) Shri Rushikeshbhai Patel

(C) Shri Raghavjibhai Patel

(D) Shri Balvantsinhji Rajput

DLl Hag' 3leviol Al AR el A1 Hiell sul [Aseu guld 8.
(A) dRAUPLA HAOG
(B) AellRL oiq
(C) gl &) usdl
(D) §ql %9
How many times are the hands of a clock at right angle in a day?
(A) 22
(B) 2
(C) 4
(D) 4
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Q 49.

Q 50.

Q 51.

Q 52.

Q 53.

Q 54.

Q 55.

Bitmap file has __ extension.
(A) .bit

(B) .bmp

(C) .btm

(D) .bmt

He was so tired that he ___ scarcely stand.
(A) could

(B) may

(C) can

(D) might

AL (Aseul Hiell Ul AcE dauEl Aot '$5366' o R 3u O?
(A) HRHRL

(B) uldstt

(C) vl

(D) HW

Choose from the options, the correct version of the passive voice of
the below sentence.

My cousin has drawn this picture.

(A) This picture has been drawn by my cousin.

(B) This picture was being drawn by my cousin.

(C) This picture is drawn by my cousin.

(D) This picture having been drawn by my cousin.

Which out of the following is the greatest number of five digits exactly
divisible by 47.

(A) 99999

(B) 99947
(C) 99969
(D) 99994

Union Cabinet has declared which day as 'National Space Day' in
India?

(A) 23rd August

(B) 22nd August

(C) 17th September

(D) 21st January

MPEG stands for

(A) Moving Pictures Export Group

(B) Moving Pictures Expert Group

(C) Moving Pictures Extra Group

(D) Moving Pictures Extension Group
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Q 56.

Q 57.

Q 58.

Q 59.

Q 60.

Q6l.

Q 62.

International boundary line between India and Pakistan is known as

(A) Radchffe Line
(B) Durand Line
(C) 38th Parallel
(D) McMohan Line

Which out of the following is the most similar in meaning to the word
'Fidelity'?

(A) Allegiance

(B) Treachery

(C) Disloyalty

(D) Unreal

AL [Aseul Hizll sl Aot dauel Aot 'sudl f Qe 3u &?
(A) dlaedl

(B) [Hel
(C) stus
(D) WS

'Smart Vault' an automated digital locker facility is launched by _____
(A) HDFC Bank

(B) ICICI Bank

(C) YES Bank

(D) SBI

AR 2 [Aseul Hizdl [ og -l [Qule ot sul 97
(A) HléEA

(B) et

C) &

(D) AR

'Sl ulRdl' 3([@uAlol Al AR 212 AR Hiell sul [dseu euld €.
(A) -y« Hidlg

(B) dlsq

(C) ARAL 2l

(D) el usq

Which among the following planets does not have any satellite?
A) Jupiter

B) Venus
C) Saturn
D) Uranus

(
(
(
(
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Q 63.

Q 64.

Q 65.

Q 66.

Q 67.

Q 68.

Q 69.

He gazed so long _____ both his eyes were dazzled.
(A) that

(B) and
(C) for
(D) when

The study of the history of life on earth as based on fossils is called

(A) Paleontology
(B) Taxonomy
(C) Pedology

(D) Oology

Choose from the options, the correct version of the passive voice of
the below sentence.

Somebody has put out the light.

(A) The light has been put out.

(B) The light is turned out.

(C) The light will be put out.

(D) The light is being put out.

Which male player won the 'Purple Cap' Award in the IPL - 2023
season?

(A) Hardik Pandya

(B) Kagiso Rabada

(C) Mohammed Shami

(D) Rashid Khan

Which out of the following is the most opposite in meaning to the
word - 'Lame'?

(A) Weak

(B) Ineffective

(C) Defective

(D) Robust

She has gone to Chennai, is her birthplace.
(A) which

(B) that

(C) and

(D) none of the above
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Q 70.  'USs UL g 3leuUldl Al AL 42 l2 izl sl [Aseu eauld 8.
(A) v Brel sldl
(B) ot U g
(C) HR HIRdl
(D) 1§ @dlg
Q71. '®Salis alndl' 3luiatL -l A1l 2420 124 Higll sl [Aseu e2uld .
A) 4 4q
B) HIR\ g
C) AU scl
D) HWL Hi g

(
(
(
(

Q 72. The wrong number in the sequence 22, 33, 66, 99, 121, 279, 594 is

Q 73. 1 have not been well ___ I returned from Delhi.
(A) for
(B) when
(C) and
(D) since

Q 74. He went where he __ find work.
(A) goes to
(B) could
(C) can
(D) is

Q 75. Headquarters of UNESCO are located in ____.
(A) New York
(B) San Fransisco
(C) Paris
(D) London

Q 76. India recently won the Asia Cup men's cricket trophy by beating
in the final.
(A) Sri Lanka
(B) Pakistan
(C) Bangladesh
(D) Afghanistan
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Q 77.

Q 78.

Q 709.

Q 80.

Q 81.

Q 82.

They have ___ their tongue to speak lies.

(A) teach

(B) taught

(C) teaching

(D) are teaching

She her hands in agony.

(A) is wring
(B) was wring
(C) wring

(D) wrung

Which out of the following is the most opposite in meaning to the

word - 'Manifold'?
(A) Numerous

(B) Various
(C) Scant

(D) Multifold

Which of the following is a permanent memory in the computer?
)

(A ROM

(B) RA

(C) CPU

(D) None of the above

There are certain number of benches in a classroom. If four students

sit on each bench then three benches remain unoccupied. If,
however, three students sit on each bench then three students
remain standing in the class. There are

the class.
(A) 45
(B

) S
(C) 4
(D) 48

The murderer has

(A) flee

(B) fled

(C) flown

(D) none of the above

to Australia.
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Q 83.

Q 84.

Q 85.

Q 86.

Q 87.

Q 88.

Q 89.

Which out of the following is the most opposite in meaning to the
word - 'Cherish'?

(A) Nurture

(B) Entertain

(C) Discard

(D) Foster

What was the day of the week on 15th August, 1947?
(A) Friday
(B) Thursday

(C) Monday

(D) Saturday

Christ ____ his crucifiers.
(A) forgive

(B) forgave

(C) forgiven

(D) none of the above

Which out of the following is the most similar in meaning to the word
- 'Onerous'?

(A) Burdensome

(B) Light
(C) Easy
(D) Solely

A B ([Aseul Higll 'eHEaH’ Aot L (el 2gAoe UL 97
(A) GetHlxiu

(B) ulRsM
(C) 2™
(D) G4dll

A B ([Aseul Higll 'vadal Ao Al AHL-El Aoe sUl 87
(A) 1€

(B) Hievdl
(C) d:zsalil
(D) U1l

Government imposed a complete ban on all kinds of crackers
in September 2023.
(A) Maharashtra
(B) Rajasthan
(C) New Delhi
(D) Haryana

SET5 Page 13



97PS

Q 90.

Q91.

Q 92.

Q 93.

Q 94.

Q 95.

Q 96.

Choose from the options, the correct version of the passive voice of
the below sentence.

Columbus discovered America,

(A) America was discovered by Columbus.

(B) America got discovered through Columbus.

(C) America is discovered by Columbus.

(D) America was been discovered by Columbus.

'siet gl 3[@uAlaL Al AR 412 Al Hiell sul [dseu euld 8.
(A) Yot sl
(B) GHIR 4ug
(C) gout sl
(D) edi-t2ll Aieiang

He went to Kolkata so that he __ find work.
(A) might

(B) may

(C) Both (A) and (B)

(D) none of the above

If You subtract (-1) from (+1), what will be the result?

Who currently holds the post of Prime Minister of Japan?
(A) Shinzo Abe

(B) Yoshihiko Noda

(C) Yoshihide Suga

(D) Fumio Kishida

is the ex-officio Chairman of Rajya Sabha.
A) President
B) Vice President
C) Deputy Speaker
D) Prime Minister

(
(
(
(

The mule was partially relieved ___ the load.
(A) of
(B) off
(C) to
(D) b
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Q 97. Choose from the options, the correct version of the passive voice of
the below sentence.
Sohrab threw the ball.
(A) The ball is thrown by Sohrab
(B) The ball was thrown by Sohrab
(C) The ball was threw by Sohrab
(D) The ball is being thrown by Sohrab

Q98. I wid [Aseul Hiall 'd@dNedL HRA ARG AcEAYs HIZ -l s Aot sUL BO?
(A) AHOURL
(B) 2a-t=ll
(C) Het:ut
(D) 2R3

Q 99. Which out of the following is the most similar in meaning to the word
- 'Menace'?
(A) Blessing
(B) Good - will
(C) Threat
(D) Remembrance

Q 100. Which out of the following is the most similar in meaning to the word
- 'Meteoric'?
(A) Permanent
(B) Order
(C) Momentary
(D) Misdeal
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